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Choose the solutions to the system of equations. Select wo that apply.

. (5,0
. 3,2)
. (2,0
. ©.4)
. 1,6
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Kayla squared a number x and added this result to -6.5. This gave her an
answer of 42.5.

What is the equation and one of the solutions to this equation?

X2+ (-65)=425,x=7
X2+ (-6.5)=425,x=6
2x+ (-6.5) =425, x=245

20+ (-6.5)=425,x=18
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Alfonso makes $8.00 per hour working at a movie theater and $12.00 per hour
working at a restaurant. Next week, Alfonso is scheduled to work 6 hours at
the movie theater. Which of the following inequalities represent the amount of
hours (h) that Alfonso needs to work at the restaurant next week to earn at
least $144 between his two jobs?

8+6+12h=144
8h+12+6=144

8h+12h =144

1000

86+ 12+62144h
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From the drawing above, Bryan discovered that his area was 2 less than Jon's
area. What is the reasonable value of x?

n 1

n 3

n 4236

n not defined
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4(=49)
Which equation is equivalent to 6 = % when solved for y?

|-
. y:2z13»]2
. y:2z§]7
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The Vanderbloom family already traveled 200 miles on their vacation. The
total distance that they will travel (d) is a function of their rate of travel (r) and
their upcoming travel time (1). This is represented with the equation given
below.

d=

L4200
t
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Solve the equation given above for .

d-200
™.
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Use the information given to answer questions.

The sales tax for all items in a store is 8%, added after all discounts are
applied. Let f (x ) represent the price of an item, including sales tax, and g (x )
represent the effect of a discount on the price of an item, not including sales
tax

Which function  (x ) represents the price of an item, including sales tax, that
originally costs x dollars?

F(x)=02x
f(x)=0.92x
f(x)=1.08x

flx)=12x
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At the start of the year, the balance in a married couple’s account is $1,750.
They decide to each deposit $35 into the account each month

Which function represents the amount in the account n months after the
beginning of the year?

fln) = 1,750 + 350
fln) = 1,750 + 70n
fln) = 1,750 + 35

fln) = 1,750n + 70
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Which statement BEST describes the solutions to this system?

There are 2 real solutions to this system.
There are no real solutions to this system.
There is only one real solution fo this system.

There are infinitely many real solutions to this system.
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Joaquin is four more than half Marjorie’s age. Marjorie is also 32 less than three
times Joaquin's age:

How old is Marjorie?
24 years old
28 years old
40 years old

54 years old
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Which expression is equivalentto 4 + 5 - (2 — 74)?
—31+410¢
4431
14 — 354
39+ 10




image21.png
For this item, select the answers in the choice matrix by clicking the
appropriate boxes in each row.

A choice matrix is shown. Complete the choice matrix by matching each
expression to its correct simplification
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(74) — (2 — 44)
(7i) + (2 — 4i)
(74) (2 — 4i)

(74) (2 + 4i)
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Which point is a solution to the following system?

{;,:2(172)773
y=-2z+5
. ©.3)

. ©.5

. @-3

. No solution
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This graph shows equations £(x) = (x - 4) -3 and g(x) = - (x-2) 2 +1.
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Select all answer choices that best represent solutions to the equation
(x) = g(x).

x
i
~
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A system of equations is graphed on the coordinate plane below.

“108 -6 -4 -2 6 8 10
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